

3) $\pi \in E_{\lambda}(A) \Leftrightarrow A\pi = \lambda\pi \Leftrightarrow A\pi - \lambda\pi = 0$

$\Leftrightarrow A\pi - I\pi = 0 \Leftrightarrow (A - I)\pi = 0$

Comme $A - I$ inversible, $\exists B$ tel que $(A - I)^{-1} = B$

Prc si $(A - I)\pi = 0 \Leftrightarrow B(A - I)\pi = 0 \Leftrightarrow \pi = 0$ c.p.d.

4) $A = \begin{pmatrix} -1 & 1 & 0 \\ 0 & -1 & 1 \\ 0 & 0 & 2 \end{pmatrix}$

on cherche π tel que $A\pi = \lambda\pi$

on pose $\pi = \begin{pmatrix} a & b & c \\ d & e & f \\ g & h & i \end{pmatrix}$

si $A - I = \begin{pmatrix} -1 & 1 & 0 \\ 0 & -1 & 1 \\ 0 & 0 & 1 \end{pmatrix} - \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} = \begin{pmatrix} -2 & 1 & 0 \\ 0 & -2 & 1 \\ 0 & 0 & 1 \end{pmatrix}$

$\det(A - I) = 4 \neq 0$ donc $A - I$ inversible donc $\underline{\underline{\pi = 0}}$

on cherche π tel que $A^2\pi = \lambda^2\pi$

$\Leftrightarrow A^2\pi - \lambda^2\pi = 0 \Leftrightarrow A(A - \lambda I)\pi = 0 \Leftrightarrow A(A - I)\pi = 0$

$\det A \neq 0$ et $\det(A - I) \neq 0$ Prc $\underline{\underline{\pi = 0}}$

5) $B = \begin{pmatrix} 3 & -2 & -1 \\ 1 & 0 & -1 \\ 2 & -2 & 0 \end{pmatrix}$ $P = \begin{pmatrix} 1 & 1 & 1 \\ 1 & 0 & 1 \\ 0 & 1 & 1 \end{pmatrix}$

a) $\det P = 1 \begin{vmatrix} 0 & 1 \\ 1 & 1 \end{vmatrix} - 1 \begin{vmatrix} 1 & 1 \\ 1 & 1 \end{vmatrix} = -1 \neq 0$ Prc P est inversible

$P^{-1} = \begin{pmatrix} 1 & 0 & -1 \\ 1 & -1 & 0 \\ -1 & 1 & 1 \end{pmatrix}$

b) $D = P^{-1} B P = \begin{pmatrix} 1 & 0 & -1 \\ 1 & -1 & 0 \\ -1 & 1 & 1 \end{pmatrix} \begin{pmatrix} 3 & -2 & -1 \\ 1 & 0 & -1 \\ 2 & -2 & 0 \end{pmatrix} \begin{pmatrix} 1 & 1 & 1 \\ 1 & 0 & 1 \\ 0 & 1 & 1 \end{pmatrix} = \begin{pmatrix} 1 & 0 & -1 \\ 2 & -2 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 1 & 1 & 1 \\ 1 & 0 & 1 \\ 0 & 1 & 1 \end{pmatrix}$
 ~~$= \begin{pmatrix} 1 & 0 & -1 \\ 2 & -2 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 1 & 1 & 1 \\ 1 & 0 & 1 \\ 0 & 1 & 1 \end{pmatrix} = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 2 & 0 \\ 0 & 0 & 0 \end{pmatrix}$~~

$$c) N = P^{-1} \Pi \Leftrightarrow P N = P P^{-1} \Pi$$

$$\Leftrightarrow P N = \Pi \Leftrightarrow \underline{\underline{\Pi = P N}}$$

$$d) \Pi \in E_2(B) \Leftrightarrow B \Pi = \Pi \Leftrightarrow B P N = P N$$

$$\Leftrightarrow \underbrace{P^{-1} B P} N = P^{-1} P N$$

$$\Leftrightarrow D N = N \Leftrightarrow N \in E_1(D)$$

$$e) D = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 2 & 0 \\ 0 & 0 & 0 \end{pmatrix} \quad D \text{ n'est pas inversible}$$

$$D - I = \begin{pmatrix} 0 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & -1 \end{pmatrix} \quad D - I \text{ n'est pas inversible}$$

on pose $N = \begin{pmatrix} a & b & c \\ d & e & f \\ g & h & i \end{pmatrix}$

$$D N = N \Rightarrow \begin{pmatrix} 1 & 0 & 0 \\ 0 & 2 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} a & b & c \\ d & e & f \\ g & h & i \end{pmatrix} = \begin{pmatrix} a & b & c \\ d & e & f \\ g & h & i \end{pmatrix}$$

$$\Leftrightarrow \begin{pmatrix} a & b & c \\ 2d & 2e & 2f \\ 0 & 0 & 0 \end{pmatrix} = \begin{pmatrix} a & b & c \\ d & e & f \\ g & h & i \end{pmatrix} \Leftrightarrow \begin{cases} a = a \\ b = b \\ c = c \\ d = 0 \\ e = 0 \\ f = 0 \\ g = 0 \\ h = 0 \\ i = 0 \end{cases}$$

$$\text{Donc } N = \begin{pmatrix} a & b & c \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}$$

$$f) \Pi = P N = \begin{pmatrix} 1 & 1 & 1 \\ 1 & 0 & 1 \\ 0 & 1 & 1 \end{pmatrix} \begin{pmatrix} a & b & c \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} = \begin{pmatrix} a & b & c \\ b & b & c \\ 0 & 0 & 0 \end{pmatrix}$$